
Time: 40 Minutes Paper G. Science 7th Total Marks: 25

4th Month, 2nd Week, 4th Day Syllabus: Unit # 7:  Key points + Exercise 7.1, 7.2

Q.No.1 Encircle the correct answer from the following choices. (1×10 = 10)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
1. Which of the following is insoluble in water?

qqqqggggzzzzffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚0000****ãããã~~~~))))iiii5555++++kkkk,,,,ìììì????
(a) sodium chloride Îe*³gZZ+ (b) oil %

(c) table salt 3ä»# (d) baking powder "5½5ë EGE
Y

0*îeg

2. A solution to which no more solute can be dissolved at a particular

temperature is called: ZZZZqqqq----ZZZZ((((²²²²wwwwTTTT~~~~ËËËË{{{{mmmmŠŠŠŠggggzzzzwwwwZZZZgggg]]]]6666,,,,''''××××hhhh++++‚‚‚‚CCCC^̂̂̂¹¹¹¹::::ƒƒƒƒnnnnÔÔÔÔBBBB@@@@****ìììì::::
(a) dilute solution ‹‚C× (b) concentrated solution  %6‚C×
(c) saturated solution §”{‚C× (d) unsaturated solution )§”{‚C×
3. A concentrated solution can dissolve in it: ZZZZqqqq----%%%%6666‚‚‚‚CCCC××××ZZZZLLLLZZZZ0000++++ggggiiii™™™™YYYYìììì::::
(a) no further amount of solute

‚C^Å'×h+lZgÃ7

(b) less quantity of solute 

 ‚C^ÅÁlZgÃ

(c) large quantity of solute

  ‚C^Å(,~lZgÃ
(d)

amount of solute equal to the
amount of solvent

‚ß•MÆ',Z',‚C^ÅlZgÃ

4. Amount of solute required to saturate 100g of solvent at a particular

temperature is called:

¤¤¤¤////ZZZZxxxx‚‚‚‚ßßßß••••MMMMÃÃÃÃ§§§§””””{{{{™™™™ääääÆÆÆÆaaaaŠŠŠŠgggg»»»»ÎÎÎÎCCCC^̂̂̂ÅÅÅÅllllZZZZggggÃÃÃÃ¹¹¹¹YYYY@@@@****ìììì:::: 100 ËËËË{{{{mmmmŠŠŠŠggggzzzzwwwwZZZZgggg]]]]6666,,,,

(a) molarity   ñ8¨ (b) molality ñ
Å5Í-

ö
GH

(c) normality **g
!5Ó4-

ö
GG

H
(d) solubility i5+k,~

5. A solution having relatively less amount of solute dissolved in it is called:

ZZZZqqqq----²²²²wwwwTTTT~~~~‚‚‚‚CCCC^̂̂̂ÅÅÅÅ××××ÁÁÁÁllllZZZZgggg~~~~¹¹¹¹ƒƒƒƒÔÔÔÔZZZZÐÐÐÐëëëë÷÷÷÷::::

(a) dilute solution eZê^‚C× (b) binary solution !*I~‚C×
(c) concentrated solution %6‚C× (d) saturated solution §”{‚C×
6. The salt is soluble in: ‚‚‚‚««««''''''''''''''''~~~~iiii5555++++kkkk,,,,ììììXXXX
(a) Ether Zp (b) Alcohol ZÈi

(c) Water 0*ã (d) All of these tÓx

7. Naphthalene is not soluble in:
""""3333©©©©----££££éééé
EEEE
GGGG
EEEEGGGGAAAA''''''''''''''''~~~~iiii5555++++kkkk,,,,7777ììììXXXX

(a) Ether Zp (b) Alcohol ZÈi

(c) Water 0*ã (d) Benzene "2.ç E
E
GE+

8. A substance which can be dissolved in a solvent is called:

zzzz{{{{qqqq����‚‚‚‚ßßßß••••MMMM~~~~iiiiƒƒƒƒYYYYññññBBBBCCCCìììì::::
(a) Insoluble Zy‚C.Þ (b) Soluble ‚C.Þ
(c) Solution ÎC× (d) None Ãð7

9. The solubility of gases_____ with the increase in temperature of solution. 

vvvvÅÅÅÅÎÎÎÎCCCC
""""5555ÓÓÓÓ4444----

öööö
EEEEGGGGGGGG

HHHH
ÎÎÎÎCCCC××××ÆÆÆÆŠŠŠŠggggzzzzwwwwZZZZgggg]]]]~~~~ZZZZŸŸŸŸ±±±±ÆÆÆÆ‚‚‚‚BBBB''''''''''''ƒƒƒƒYYYYCCCCììììXXXX

(a) Increases (,| (b) Decreases Á
(c) Moderate Šgxã (d) No effect ÃðZW,7ƒ@*
10. Which gas is present in soda water? ÎÎÎÎeeeeZZZZzzzzZZZZRRRR,,,,~~~~ÃÃÃÃyyyyÏÏÏÏ’’’’ññññ����ŠŠŠŠƒƒƒƒCCCCìììì????
(a) Nitrogen **>zX (b) Hydrogen ;[+gzX

(c) Carbon dioxide »g0eZðM‚à (d) Carbon monoxide »g0ñâM‚à

Q.No.2. Write the short answers. (2 <<<< 6 =12) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX
(i)  Define Binary solution. !*I~ÎC×Å°p™,X
(ii) Define Aqueous solution. ZrõÎC×Å°p™,X
(iii)  Define Solute. ÎC^Å°p™,X
(iv) Define Homogeneous mixture. ƒñ7454ø

EG
EJ

FÅ°p™,X
(v)  Define Unsaturated solution. Zyd-BðGFg"5å GHHÎC×Å°p™,X
(vi) Define solubility. ÎC

"5Í-
ö
EGHÅ°p™,X

Q.No.3. How can we increase the process of dissolution? (3)

ëëëëiiii5555++++kkkk,,,,~~~~ÆÆÆÆ¿¿¿¿ÃÃÃÃùùùù!!!!™™™™MMMMhhhh÷÷÷÷????
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